BHRITEZZURIRTE 52 E ML

BHR — 60 — [1 — 10 - K - F1
| | | | | |

|

BHR 42 LT 3~20 #EhK DESEP2 F
60 L2 25~200 JCER:S +%CE%§%rP1 F2
90 F3
115 F4
142 F§
180 F6
220 F7

www.rui-fen.com



B 1 B 2 A R [E) 7]

e
SREEE N AR E |
B IE ] AT RO N B e

B © BhIE ) B A ) B
R NSEETEREAARE - SRR - B
NEIEM - BEHOBBEE - SHOEHH
B8 B -

em L ) R R [E]

Allowance Radial Loading with rpm Curve

17000 — BHR42
_ 16000 X
Dreooo N — BHR60
5 13,000
8 12,000 — BHR90
=1 11,000 \
Z 8\ — BHR115
R & 800
o g 7000 — BHR142
15
5 4,000 — BHR180
Z 3000
2,000 — BHR220
1,000
% 300 600 900 1200 1500 1800 2100
I EHEESR rpm / Output Shaft rpm
UEREGREE
Coefficient curve with Position Loading
16
—BHRA42
14 N

\ —BHR60
1.2
\\ BHR90
1.0
AN ~BHR115
&= 0.8
\ —BHR142
0.6

—BHR180
—BHR220

0 50 _100 150 200 250 300 350 400
KO AR INIE Xmm/ Radial Loading Position Xmm

UEEEGREH
Coefficient Ks

0.4

0.2

www.rui-fen.com



EREL

##8 Specifications | Bir Unit | E25 | AL | BHR42 | BHREO | BHROO | BHRTIS | BHR142 | BHRISO | BHR220
3 741 | 36 | 716 | 238 | 571 1050 | 7880
7 | 120 | 38 | 122 | 250 | 599 | 103 | 1970
5 [ 14.0 | 36 | 117 | 240 | 575 | 1058 | 1890
6 | B2 | 34 | 108 | 229 | 533 983 | 1756
7 119 [ 34 [ 10 | 225 | 538 992 | 1770
8 |19 | 33 | 103 | 212 | 506 936 | 1670

L1 9 120 | 31 1102 | 208 | 500 . -

0 1108 | 31 | 102 | 208 | 4% 918 | 1640
4 1o | 34 | 10 | 225 | 538 992 | 1770
% 1129 | 33 | 103 | 212 | 506 936 | 1670
8 120 | 31 | 102 | 208 | 500 . .
20 1108 | 31 | 102 | 208 | 4% 918 | 1640

MEMENE Ty | P 7 O T 2 R 0

Nominal Output Torque 30 41 | 36 6 | 238 571 1050 | 1880
35 | 1.9 | 34 | 110 | 225 | 538 992 | 1770
20 | 129 | 38 | 22 | 250 | 599 | 103 | 1970
50 | 10.8 | 36 | 117 | 240 | 575 | 1058 | 1890
60 | 3.2 | 34 | 108 | 229 | 533 983 | 1756

2 70 119 [ 34 | 1o | 225 | 538 992 | 1770

80 [ 129 | 33 | 103 | 212 | 506 936 | 1670
90 | 120 | 31 | 102 | 208 | 500 . .
00 [ 108 | 31 | 102 | 208 | 4% 918 | 1640
20 - 34 | 108 | 229 | 533 983 | 1756
140 - 34 1 10 | 225 | 538 992 | 1770
160 - 33 | 103 | 212 | 506 936 | 1670
200 - 31 | 102 | 208 | 4% 918 | 1640

=B SEREH L B 2.5 [R5, Stimes

Emergency Stop Nm L1,L2 13~200 3times Nominal Output Torque Nominal Output Torque

Mo ety | rpm | 1112 |3~200 |3,000 (3,000 {3,000 | 3,000 | 2500 | 2500 | 2500

BT HE

o 1 e pm | L1L2 |3~200 | 6,000 |6,000 {6,000 | 6000 | 5000 | 5000 | 5000

BES R 1 [3-20 [=7 [<6 <6 =<6 | =6 | <6 <656

P1Backlash aremim [2 [15~200] =10 | = 8 < 8 < 8 <8 <8 < 8

P 11 [3-20 [ <10 [=8 =<8 | =<8 | =<8 | =<8 | <38

P2 Backlash 12 |15-200] <12 | <10 | <10 | =10 | =10 | =10 | =10

e Nrvarcminl_LL_| 3=20 [ 213 |43 T 32 65 75 | 250

Tors ional Rigidity 12 |15-200] 128 | 26 | 65 | 19 39 87 | 150

’;;af?ajl‘afgfj Fas N | L2 |3~200 | 700 | 1400 |2,800 | 5000 | 7,500 | 12,000 | 18,800

ﬁjﬂ‘gﬁ*mﬂ“m N | L1L2 [3~200 | 350 | 700 [1400 | 2,500 | 3,750 | 6000 | 9,400

ax. Axial Load

EAE S Life hrs | LLL2 [3~200 20,000

R E °c |12 [3~200 10°C ~+90°C

Operating Temperature !

838 Lubrication L1,L2 [3~200 & REEMPE Lithium Complex Synthetic

o At 5 . . .

ﬁggrﬁgposim L1,L2 [3~200 fF& 7518 Any Direction

I8 18 RunningNoise | dB(A) [ L1,L2 [3~200 | =68 | =70 [ =72 | =74 | =76 | =78 | =80

e e - 0 | 3~20 > 94%

2R n Efficiency % > 115200 > 01%

- 11 13-20 | 07 188 [59 [123 [22/23 | 41 70

B8 Weight kg 2 1152001 09 | 232 14773 [11/148 [22/28 | 385 | 685

Bh# Protection Level L1,L2 | 3~200 P65

www.rui-fen.com




IR EE) IS 2

BHR ##){E = 423K Moment of Inertia Table
Unit |kg.cm? 75 Model
v |oess, [BHR42| BHR6O |  BHR9O | BHRIIS BHR142 | BHRI80 BHR220
Siéiie /BRZ;%EE EIRGEZEME  Servomotor Shaft Diameter
8 | ¢8|¢14|e14|g19|p 24 ¢ 19| ¢ 24| ¢ 24| ¢ 35| ¢ 42| ¢ 35| ¢ 42| ¢ 55| ¢ 35 ¢ 42| ¢ 55
3
4
5
? 0.5]0.5 1.6|3.5|7.2|6.8|28.8(27.9|25.7 |43.1[42.2 43.1
EE g
9
1-stage 0
14
16
" 0.5]0.5 15 |31 | 6.8 (6.4 |26.7[25.8(23.6| 37 |36.1|37
20
15
05|105|05|16 |16 |72|68|72]68 28812791257
2> 0.02 0.08
30 05|05 (05|15 | 15|68 |64 |68 |6.4 26.7|25.8(23.6
35 05|05 (05|16 |16|72 |68 |72 |68 28.8127.9|25.7
40
50 0.5]05|05[15 |15 |68|64|68|64 26.7|25.8(23.6
gy | 60
70 0.02 0.08/ 05|05 |05 |16 |16 | 7.2|68]7.2|68 28.8(27.9[25.7
2rstagesl g 05(05 /05|15 |15|68|64|68]|64 26.7[25.823.6
90 05|05 (0516 |16 |72]|68|72|68 28.8(27.9(25.7
100
120
140 0.5|05|05[15 |15 |68|64|68|64 26.7|125.8(23.6
160
200

TOBURES 1 i = WA ER/BHEE -

2. BRE  BE2%BER D HE MUGEMMSE ZEIE -

3. RARMARERE#ME ] - HEAREDEPOAIE - BERI00rpm - RHE FPRAIT Z 80 -
4 BEEFHBH<60%NR N - HIEASmIREBE ; BEIEEEMS0%UD -

5. IS8 : ERIAR - ZHEHE - BEEWABER - R MG ZEIE -

www.rui-fen.com



AR — B RSTB(LT)

2. 0L (Do\ L2 L8
N I e N \
g SIS _! )
| | 3
L4 7l i [
L3 L7 | |
NeY i ! i b 8
(@) ('\.)‘ 1 I @
@Cl
3 2C2
B L6 L5
] | 3
- S
©. 16, HFt & o'
O
|___| @D3 | @03 g L9 a
HHH(S) 320(K) o Ne,
AR BHR42 BHR60 BHR90 | BHR115| BHR142 BHR180 | BHR220
D1 50 70 100 130 165 215 250
D2 3.5 5.5 6.8 8.6 11 13 17
D3nh7 13 16 22 32 40 55 75
D4nh7 35 50 80 110 130 160 180
D5 13.6 19.5 29.2 34.2 53.9 68.9 88.9
D6 M4x0.7P | M5xP0.8 | M6xP1.0 | M8xP1.25 | M16xP2.0 | M20xP2.5 | M20xP2.5
D7 56 80 116 150 185 240 290
L1 42 60 90 115 142 180 220
L2 255 34.5 51.5 66 97 105 138
L3 5.5 7 10 12 15 20 30
L4 1 1.5 1.5 2 3 & 5
L5 15 20 30 40 65 70 90
L6 2 S & 5 5 6 7
L7 4 6 8 10 12 15 20
L8 70.5 101 137 174.5 227 257 304
L9 10 12 15 28 36 42 42
L10 96 135.5 188.5 240.5 324 362 442
*C1H7 8 14 19 24 35 42 55
*C2H7 30 50 70 110 114.3 180 200
*C3 46 70 90 145 200 215 235
*C4 M4x0.7P | M5xP0.8 | M6xP1.0 | M8xP1.25 [ M12xP1.75 | M12xP1.75| M12xP1.75
*Cb5 26 31 43.5 67 83 88 118
*C6 17 21 30 18 20 10 12
*C7 8.5 11 14 30.5 39 42 53
*C8 4 5.5 7 20 27.5 30 40
*C9 56 80 116 160 230 250 265
*C10 42 60 90 120 176 190 210
*C11 77 103.5 145 196 254 298 367
B1 5 5 6 10 12 16 20
H1 15 18 24.5 35 43 60 79.5

C~CNBRERFERYT - SIRRS

www.rui-fen.com

KIBhE R AR B RS -




TR B RS BI(L2)

L10
S ou q)o\ L2 L8
2 o = 1 N \
§r SIS _! )
| | 3
L4 7‘ -
L3 | [
L7 - = : ; = 8
O B' 1 I @
@C]
3 @C2
BI L6 L5 ]
| | | 3
= | I N
T [a)
CIRREC L) :
|| @p3 | 203 =| |19 il
JEER(S) F 8 (K) -
%
AR BHR42 BHR60 BHR90 | BHR115| BHR142 | BHR180| BHR220
D1 50 70 100 130 165 215 250
D2 3.5 5.5 6.8 8.6 11 13 17
D3h7 13 16 22 32 40 55) 75
D4nh7 35 50 80 110 130 160 180
D5 13.6 19.5 29.2 34.2 53.9 68.9 88.9
D6 M4x0.7P | M5xP0.8 | M6xP1.0 | M8xP1.25 [ M16xP2.0 | M20xP2.5 | M20xP2.5
D7 56 80 116 150 185 240 290
L1 42 60 90 115 142 180 220
L2 255 34.5 51.5 66 97 105 138
L3 55 7 10 12 15 20 30
L4 1 1.5 1.5 2 3 & 3
L5 15 20 30 40 65 70 90
L6 2 S S 5 5 6 7
L7 4 6 8 10 12 15 20
L8 87.5 123.5 168.5 211 273.5 289 351.5
L9 10 12 15 28 36 42 42
L10 113 158 220 277 370.5 394 489.5
*C1H7 8 14 19 24 35 42 55
*C2H7 30 50 70 110 114.3 180 200
*C3 46 70 90 145 200 215 235
*C4 M4x0.7P | M5xP0.8 | M6xP1.0 | M8xP1.25 | M12xP1.75 [M12xP1.75| M12xP1.75
*Cb5 26 31 43.5 67 83 88 118
*C6 17 21 30 18 20 10 12
*C7 8.5 11 14 30.5 39 42 53
*C8 4 5.5 7 20 27.5 30 40
*C9 56 80 116 160 230 250 265
*C10 42 60 90 120 176 190 210
*C11 77 103.5 145 196 254 298 367
B1 5 5 6 10 12 16 20
H1 15 18 24.5 35 43 60 79.5

CI~-CNBERFERS - FRBEXMIEERFIEZLSME -

www.rui-fen.com



	
	
	
	
	
	

